


......




Sl QLo 6955 315 9 w5 531 il Siliw! 308 w92 > (-

olo jlw (5 31 gt

6333| il “.“tt'n.«ol yad

LR

&bo sbeali p;
il

(SAJSJB “:tl:\.i.nb.ﬁb

@ S g demme il o loludl U o il 6 5 il bl jen ik (Gl @alie S ke (el YIS onogu



Gl yoi oyl jlw 21 50

Star Model: (Kates & Galbraith, 2007, 6-7)
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o The substrate, sucrose, Glucose
consists of glucose and

fructose bonded together.

Fructose

—

f

/ = The substrate binds to the .

enzyme, forming an

enzyme-substrate complex.
Bond - / o Products are released,

Gty Hz0 and the enzyme is free
- to bind other substratas.

——

Active site = \
Pl e The binding of the

substrate and enzyme

places stress on the
Enzyme glucose-fructose bond

and the bond breaks.
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